

$$G \quad a \in G. \quad \underline{a \circ g = g \circ a}$$

$$\checkmark \langle a \rangle = \{ \underline{a}, a^2, \dots, a^n = \underline{e} \}$$

Centralizer of 'a' in a group G:—

$$\checkmark C(a) = \{ g \in G : ag = ga \}, a \in G.$$

$$\checkmark \underline{e} \in C(a), \quad \checkmark \underline{a^{-1}} \in C(a), \quad \checkmark \underline{a} \in C(a)$$

If G is abelian, $C(a) = G$.

$$\underline{G = D_4}, \quad \underline{Z(D_4) = \{k_0, k_{180}\}}$$

$$C(H) = \{k_0, k_{180}, H, V\} = C(V)$$

$$C(D) = \{k_0, k_{180}, D, D'\} = C(D')$$

$$C(k_0) = D_4 = C(k_{180})$$

$$C(k_{90}) = \{k_0, k_{180}, k_{90}, k_{270}\} \\ = \langle k_{90} \rangle = C(k_{270})$$

for G,

$$\underline{Z(G) \subseteq C(a)}, \quad \forall a \in G.$$

for abelian group G,

$$G = Z(G) = C(a), \quad \forall a \in G.$$

Prop:— $C(a)$ forms a subgroup of G,
where $a \in G$.

$\Rightarrow e \in C(a)$, $C(a)$ is nonempty.

Let $b, c \in C(a)$

$$\begin{aligned} \rightarrow ab = ba \quad \text{and} \quad ac = ca. \\ \Rightarrow c^{-1}a = ac^{-1} \\ (bc^{-1})a = b(c^{-1}a) \\ = b(ac^{-1}) = (ba)c^{-1} = (ab)c^{-1} \\ = a(bc^{-1}) \\ \Rightarrow bc^{-1} \in C(a), \text{ for } b, c \in C(a) \\ \therefore C(a) \text{ is a subgroup of } G. \end{aligned}$$

Cyclic group

$$G. \quad a \in G. \quad G = \{a, a^2, a^3, \dots, a^n = e\}$$

$$|G| = |a| = n.$$

$$\langle a \rangle = G, \text{ cyclic.}$$



Let G is finite group and $|G| = n$.

if $\exists a \in G$ s.t. $|a| = n$. Then

$$G = \{a, a^2, \dots, a^n = e\}$$

as if $a^i = a^j$, $1 \leq i < j \leq n$

$$\Rightarrow a^{j-i} = e$$

$$\Rightarrow |a| \mid j-i$$

$\Rightarrow n \mid j-i$ contradiction.

Then $G = \{a, a^2, \dots, a^n = e\} = \langle a \rangle$.

G is cyclic group generated by a .

Ex: \rightarrow i) $G = \{1, -1, i, -i\}$. $|G| = 4$

$$|i| = 4. \quad G = \langle i \rangle = \{i, i^2, i^3, i^4\}$$

$$= \{i, -1, -i, 1\}$$

.....

$$ii) (\mathbb{Z}_n, +) = \langle 1 \rangle = \langle n-1 \rangle$$

$|G| = n$ finite cyclic group.

Let G is infinite group. G is cyclic if $\exists a \in G$ s.t. $G = \{a^n : n \in \mathbb{Z}\}$
 $= \langle a \rangle = \langle a^{-1} \rangle$

Ex: $(\mathbb{Z}, +) = \langle 1 \rangle = \langle -1 \rangle$

Prop: \rightarrow If $|G| > 2$ and G be a cyclic group. Then G has even number of generators.

\Rightarrow Case I: Let G be finite cyclic group.

$|G| > 2$. $G = \langle a \rangle$, $a \in G$
 Then a^{-1} is also a generator of G .

$a \neq a^{-1}$ as if $a = a^{-1} \Rightarrow a^2 = e$
 $\Rightarrow G \neq \langle a \rangle$

\therefore generators of G occur in pair. G has even no of generators. [$\because |G| > 2$]

Case II: If G is infinite cyclic grp.
 If $G = \langle a \rangle$. Then G has only two generators a and a^{-1} .

Why?!

Let α, β be two generators of G .

$$\therefore \alpha = \beta^i, \quad \beta = \alpha^j, \quad i, j \in \mathbb{Z}.$$

$$\therefore \alpha = \beta^i = (\alpha^j)^i = \alpha^{ij}$$

$$\Rightarrow \alpha^{ij-1} = e$$

$\therefore ij = 1$ otherwise order of α is finite.

$$\Rightarrow i = 1 = j, \quad i = -1 = j.$$

$\therefore G$ has two generators α and α^{-1} .

Ex: \rightarrow

1) $(\mathbb{Z}, +)$ cyclic generated by 1 and -1.

$(\mathbb{R}, +)$, $(\mathbb{Q}, +)$ is not cyclic.

2) $(\mathbb{Z}_n, +)$ cyclic.

$$= \langle 1 \rangle = \langle n-1 \rangle = \langle k \rangle, \quad (k, n) = 1$$

k is a generator of \mathbb{Z}_n iff $\text{gcd}(k, n) = 1$

$$\mathbb{Z}_{10} = \langle 1 \rangle = \langle 3 \rangle = \langle 7 \rangle = \langle 9 \rangle$$

$$= \langle \underline{a} \rangle = \langle \underline{a^3} \rangle = \langle \underline{a^7} \rangle = \langle \underline{a^9} \rangle$$

$$|a^k| = |a| = n \text{ iff } \text{gcd}(k, n) = 1.$$

$$\rightarrow = \frac{|a|}{\text{gcd}(k, n)}$$

The set of generators of $\mathbb{Z}_n = U(n)$.

$$3) \quad U(10) = \{1, 3, 7, 9\} = \langle 3 \rangle = \langle 7 \rangle$$

$$\langle 3 \rangle = \{3, 3^2, 3^3, 3^4\} = \{3, 9, 7, 1\} = \langle 7 \rangle.$$

$\left\{ \begin{array}{l} U(8), U(12) \text{ is not cyclic.} \\ k=4 \text{ is not cyclic.} \end{array} \right.$

17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70 71 72 73 74 75 76 77 78 79 80 81 82 83 84 85 86 87 88 89 90 91 92 93 94 95 96 97 98 99 100

4) $(\mathbb{Z}, +)$ is cyclic.

$$= \langle n \rangle = \langle -n \rangle.$$

$(\mathbb{Z}, +)$, let $r, s \in \mathbb{Z}^+$.

$$H = \{ r \cdot m + s \cdot n : m, n \in \mathbb{Z} \}$$

is a subgroup of \mathbb{Z} .

[$0, r, s \in H$. H is nonempty.

Let $r \cdot m_1 + s \cdot n_1, r \cdot m_2 + s \cdot n_2 \in H$

$$\text{Then } (r \cdot m_1 + s \cdot n_1) + (r \cdot (-m_2) + s \cdot (-n_2))$$

$$= r(m_1 - m_2) + s(n_1 - n_2)$$

$$\in H \quad \left[\begin{array}{l} \because m_1 - m_2 \in \mathbb{Z} \\ n_1 - n_2 \in \mathbb{Z} \end{array} \right]$$

$$H = \{ r \cdot m + s \cdot n : m, n \in \mathbb{Z} \}$$

$$= d\mathbb{Z}, \quad d \in \mathbb{Z}^+$$

$$= \langle d \rangle$$

d is the g.c.d. (r, s) .

Ex:— $6, 9$.

$$H = \{ 6 \cdot m + 9 \cdot n : m, n \in \mathbb{Z} \}$$

$$= \{ \dots, -6, -3, 0, 3, 6, 9, 12, \dots \}$$

$$= 3\mathbb{Z}$$

$$3 = \text{gcd}(6, 9).$$

Theorem:— Every cyclic group is abelian.

$\Rightarrow G$ cyclic. $a \in G$.

$$G = \langle a \rangle = \{ a^n : n \in \mathbb{Z} \}$$

$$\text{Let } a^p, a^q \in G \Rightarrow a^p \cdot a^q = a^{p+q} \\ = a^{q+p} = a^q \cdot a^p.$$

$\therefore G$ is abelian.

\therefore Non-abelian \Rightarrow Non-cyclic.

Ex:- D_n .

Converse of the theorem is not true.

Ex:- $K-4$ group.

Theorem:- \longrightarrow

Let G be a group and $a \in G$.
If a has infinite order, then all
distinct powers of a are distinct
group elements.

If a has finite order, say n ,
then $\langle a \rangle = \{ e, a, a^2, \dots, a^{n-1} \}$
and $a^i = a^j$ iff $n \mid i-j$.

H/W